H & 0l & AHS B Ml A

H=d
Z0l #EEo| £
Fags Ad (Er2 &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
658,99% 625,232 33,763
AP &2 574,186 548,443 25,743
=y X 528,518 505,103 23,415
BN2E 107,224 93,380 13,844
201 fer= 3| 103,649 93,380 10,269
01 At 2|l 600 600 0
OFA Y945 S99
200,000 *32] 600
2 35244l 103,049 92,780 10,269
odIIea 60,600
—Jes &8Ies 3,500,000&  12& 42,000
—3MN S &JIes
1,550,000« 128 18,600
Otz 2= 200,000&* 122 2,400
OFAl S dot=e 23
120,000& * 122 1,440
o=R# 2= 150,000& 122 1,800
OgzrEMHIA S StlE
44,0003 122 528
ORdYsz 10,0002« 12& 120
oelgues 33,0003+ 122 3%
OREFHIAIAYE BEE
130,000 122 1,560
Oxtg S| 27,79
— 254l 1,525& %300 £ x3CH* 12 16,470
—28= 900,000 *3CH 2,700
— XS XAl 40,0002 =3CH 120
—EHOI0 WA 1,500,000 *3CH 4,500
—xc|l & A2F WA
650,000 *3CH*23] 3,900
—ZIIBA 35,0002 *30H 105
Ox72 elBI(HEA & 353E4)
500,000 62| 3,000
Odell A= 110,000 * 16CH 1,760
O&DItE A AL 100,000& «12& 1,200
OALrEHAL 450,000 12 450
401 AIEHIX S0 3,575 0 3,575
01 A28l 3,575 0 3,575
OZAIRA HIDIEAIE 3,575
A FEEY A 80,000 80,000 0
401 Al HIZL R 0HbI 80,000 80,000
01 Al&HI 80,000 80,000
OIS A2 EHIAIY 20,000,000 20,000
OAARFUEHAAA 60,000
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A e
M Z=0l #EHO| £
el FoEd XA (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
—&tA0t2 AE 4018 &X]
20,000,000 *1J0 A& 20,000
=JIt0te s2
9,000,000 *1JH 2 9,000
—H0LE 42 &)
10,000,000 * 10 2 10,000
—R40ls s2 ¥
21,000,000 =10 2 21,000
Mol == AH 10,500 10,000 500
201 B2 AY| 10,500 10,000 500
01 A=R2teld| 10,500 10,000 500
O=3A&IloiSa=7&Hl Xz
700,000 *15CH 10,500
SH FUN0AH 2 3,000 3,000
201 Ler23| 3,000 3,000
01 Al 2218 2,400 2,400
OS2 FOFHOULFINS 9™ 22
100,000 & *8H *33| 2,400
03 SAI2 | 600 600 0
OSe FRHULANE 29
200,000& *33| 600
HE FQAHYR FA 3,800 3,800
202 O4H| 2,800 2,800
01 2ol 2,800 2,800
Opiy z=gsior =2
20,0003 *14Z+10& 2,800
203 PYRF=&H| 1,000 1,000
03 A FAHRFAIH| 1,000 1,000
OF2 Sotolia ¥ NSAY 1,000
oA S 16,831 15,452 1,379
101 2124t 10,629 10,418 211
M IIZNZ2 2 NS Es 10,629 10,418 211
OodtAH %A 10,629
=Jl=22 80,2402 x100 8,024
—=54 80,2403 x20! 1,605
—S&a 1,000,000& 1,000
206 =4l 6,202 5,034 1,168
01 M=z 8l 6,202 5,034 1,168
OdtH YA =S=FHI 6,202
— 3R 1,6273*10 £ 100 1,627
3% 1,525% %30 £ *100 4,575
HZERAX 19,476 16,602 2,874
101 2124 d| 15,844 15,602 242
M I1RINZ2Z2sSEs 15,844 15,602 242
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A HEH
M Z=0l #EHO| £
ce|: F0IsHE X2 (SH9 H2)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
EENIEEEH 4.815
—REX FZRA el
80,2403 x3H x20 4,815
OAZ2d =4 & 2e
80,2403 x2H x50 9,629
OREXN HZERA & A8 X4 HE= 1,400
201 LBr2Ab| 2,632 2,632
02 S32Z| 2,632 2,632
OUHSI0NE EIIM & == Al
136,000& x 128 1,632
BHSHOIEY A2 =4 1,000
206 M=H| 1,000 1,000
01 28I 1,000 1,000
AZ2 2e| HEFRAU(EH| £) 1,000
FREEYH Z2AXYH 21,449 21,181 268
101 Q124d| 16,549 16,281 268
04 JItNI22XsES 16,549 16,281 268
OJt=2&t83 38| o2
80,2403 x8H x8L! 5,136
OFtEH Z22UXH
80,2403 x8H x 17 10,913
OFeEtzdH B22LXH H8a 500
206 =8| 4,900 4,900
01 HZHI 4,900 4,900
OZ2dXH e 7Y 4,900
—28 3 S 1,000& x3,000= 3,000
—E&lH P2 S 3,800 x500E 1,900
FOIE X 180, 180 180, 180
301 LEtEXZ 180, 180 180, 180
07 S& - 0| & - BHEEsEAZ 178,620 178,620
Os -2l - gt& =5 & &5H| 178,620
—0|1& J|E2sd
400,000& x29H x 12& 139,200
—0l& A2 400,000 x29H #23| 23,200
—0|& o&EA E
20,0003 *29H *23| x 128 13,920
—bBta Ha2 50,0003 x46H 2,300
11 HAIAHI X2 1,560 1,560 0
OZAENE PLIHRY £33
20,0003 *29H *13| 580
O0|& ANENE 10,000& 20X x23| 580
O=F0 dod=s2 & A-8A0X} n=s SR
X 10,000 *40H x 13 400
HOIO| & Al & 2,000 2,000 0
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A HEH
M =0 #ZEO &Y
&2l MAEIE 22l EEED
- HE - S2A(3) - NIRAY - BES Cicie 2
FR 29 22| 43,868 41,740 2,128
101 @124H| 43,868 41,740 2,128
04 JIRHHIZ2Z2REE S 43,868 41,740 2,128
O=2 =28 EHID|(45km
80,2402 x40 H 8 25,677
Ozt & SOHE SHIDIAM
80,2403 x23H x5 9,228
OctE MR X2
80,2403« 15H x5 6,018
O=2 E2¥ 22| 282
1,500,000 1,500
HStore 24101 80,2402 +3Z 6L 1,445
ZHI(AHIEH) 84,809 76,789 8,020
=lell 6,960 6,960 0
23| 6,960 6,960 0
2 04| 360 360 0
01 =B 360 360 0
OZRA2ZX SE0H
20,0002 «6& 3 360
4 HSRE=S 6,600 6,600
04 SRE(RIA)=2=2 SRE3 S 6,600 6,600
ORINHL2ZX BE=(4
550,000 * 123 6,600
]l 77,849 69,829 8,020
el 77,849 69,829 8,020
201 ZEH2 & 39,637 31,617 8,020
01 AFS2t2ltl 39,637 31,617 8,020
O=AD| Xtz 825,000 123 9,900
O3J1EEI & E=J|
202,400 123 2,429
OZgH e+ 150,000& *43] 600
OMBE ABF #2 150,000 « 128 1,800
O=AL=EX 30,0002 * 102 A+ 122 3,600
272 HIS =4l 1,000,000& 1,000
OtlE24== 660,000& *43] 2,640
O M-I 120,000& *43] 480
OYREEE 22t MH
100,000& * 122 1,200
OZddl =5+ 2,400
—&EAM ¥ SEEL
100,000& « 128 1,200
—AIDHK E A 100,000 «12& 1,200
OY&H|(4,F=4) 60,0002+ 10 600
O=gtl 8,000& 13~ 123 1,248
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SN e
. dY2I3HI(AEH)
el JI=2 3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Odil=ta U=l 600,000 3 1,800
Osd)| RA=E= 220,000 x 122 2,640
OMs=Z2 Al 20,0003 »365& 7,300
202 04| 27,552 27,552
01 =LHOLI 2,352 2,352
ORAM2E LI
20,0002 * 14« 122 %7 (fb 2,352
02 A0 25,200 25,200 0
OZ A0l 150,000& x14H =123 25,200
203 =] 10,660 10,660
01 J[2=2HHR &I 6,700 6,700
OJ|&2=dg =AY 6,700,000& 6,700
02 32 JRHH 2= 720 720 0
Ot =] 40,0002 18 720
M EA2HER=AH 3,240 3,240 0
ORNEgeE =AY
300,000 122 *90% 3,240
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